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SiPleyenraet : (1) oasg oNamssEpd slurs sl Lardl o dTeTgm eremLIGeneT
sfluriggs Qardrerajb. Fatudeled Goplimudea amps
samaeTarfiLiuTemiiLb 2 engwirs Gsfelidaseb.

2) Beod siweg smly ebulemear g usHGD GsCeTyHausDGL
LweTu(hés CouamHb. UL RIS eueTeugh@ Guemsled LwetLhgsalw.

~ Instructions : (1)  Check the question paper for fairness of printing. If there is any lack of fairness,

7 inform the Hall Supervisor immediately.
(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

@gsluq : @éuelamsgreT BIewE LGHamas QsrarL g,

Note : This question paper contains four parts.
LGS - 1/ PART -1

GOy : () Sewesg AamssErs@n allewefl&Esab. 12x1=12
' (i) Qar@ssiul(Hdaer Breng wrHy e sefld Wsajd gnyenLw
e Wewars Casibtsbhss GHULBHLa dlaLamaun Gorsg
Gr@g,me.

Note : (i) Amnswer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and write
the option code and the corresponding answer.
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1. o dCpmadlu engaid eranug ergenm DL L@TUTEGD ?

(1) Gaurr (=) e (@) Qeneser (rr) LoeF&eT
The endarch condition is the characteristic feature of :

(a) Root () Stem (c) Leaves (d) Flowers

2. TPMererugl Gemrullen orbs LUGSHL Qummenerd @olESng ?

(=) srg 21y (<) eveul_L 1lew

(@) Gsrepliy GQumml ser (Fr) ariGurenan Gri
TFM in soaps represents content in soap.

(a) Mineral (b) Vitamin

(c) Fatty matter (d) Carbohydrate

3.  Qumrg eumuy wrdlellufer iy
(=1) 381] Goréey~T K1 (<=1) 8.03 ] Gorev =1 K1
(@) 138 ] Guorér~1 K1 (rr) 831] Gurew 1 K1
The value of Universal Gas Constant :
(a) 3.81Jmol" 1K1 (b) 8.03Tmol 1K1

(c) 138 mol-1K-! (d) 831 mol-1K-1

4. &Cer auml wenfl eTETLIZ THENMLUI BHE ?
(1) WengenL ereter (<=3) NersL g5 et
(@) e =ydme (/) Sewr e
Kilowatt hour is the unit of :
(@) resistivity (b)  conductivity

(c) electrical energy (d) electrical power
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DNA -eneu Geul L1t Lweuid Gprd

(<=1) YCrriigGuwiew (<2,) Grevi fgeven ererrGLrblyyseflGuicn
(@) DNA amaGsan () RNA Qprélaer

An enzyme which cuts DNA is :

(a) Protease (b) Restriction endonuclease

{c) DNA Ligase (d) RNAase

e Comed eTamLg) ePEEIDIEMaTS Cl&Taniq (HEELD.

(<=1) 6.023 x1022 (<) 6.023x10-2 (@) 3.0115x102 () 12.046x10%
One mole of any substance contains molecules.

(a) 6.023x10%3 (b) 6.023x10°23 (o) 3.0115x10% (d) 12.046x10%

geneewd &ruld eram @MU LUBeug evgl ?

(=) Gaflwe Frond (<) Gl LR syindl
(@) evsrmiu® sying (/F) i Meed &yl
Which one is referred as “Master gland” ?

(a) Pineal gland (b} Pituitary gland

{¢) Thyroid gland (d) Adrenal gland

gThm el wETHsE Ceidems poLCuUmL STarmsar e U e sGerm ()
QgL mYdensg e ? '

(B1) OFEET GuTeTONaT WEFHeSHIGAEMmer 2 HLFS Celidammer.

(<) GO wrarg Guiugrseyn, QeuelGu Bl ystsrarGL @)He@LID.

(@) weiser Hpb, wead wWHnL Caen &FEEL Sarbulmanlb Claremi(HHE@LD.
(F) warHsSGEaTH SHLSTEED L TBESSTSAD BHSGLD.

Which among the following is not the characteristic of anemophilous plants ?

(a) the flowers produce enormous amount of pollen grams.
(b) the stigmas are large and protruding.
(c) the flowers are brightly coloured, have smell and nectar.

(d) pollen grains are small and dry.
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10.

11.

Epsaam_cuhmier Henawlbd rmeans sTIHSS ?

(=) Qurapaflen eren (<=y,) Gamreflen iy wpHEsD

(@) durmefienr Heop () (1) womd ()

Inertia of a body depends on :

(@) Weight of the object (b)  Acceleration due to gravity of planet

(¢) Mass of the object (d) Both (a) and (b)

rés gl gen sflurer aflos org ?

(1) Ceuam_M&dlear — g Mub —» Hey — swef
(=) glflud - GQeuam NGder — Heoy — swef
(@) glflud - Ceuem_Nser — gwall — Sy
() CeuarrM&dler —» Heoy — g Mwb — swel
Which is the correct sequence of blood flow ?

(a) Ventricle —» Atrium — Vein — Arteries
{(bp) Atrium — Ventricle — Vein — Arteries
() Aftrium — Ventricle —» Arteries - Vein

(d) Ventricle - Vein — Atrium — Arteries

dereumeuanaupmiet oTgl “saflwb + saflob — Caiob”’ cums e ?
(1) Cigy + Oy(gy=>COx) (<) 2Ky + Bryy— 2KBr

(@) 2COg) + Oygy—> 2COy (FF) 4Feg +30,,— 2Fe,O5,

Which of the following is not an “element + element — compound” type reaction ?
@) C+Oye— COyq {b) 2K 5y + Brygy— 2KBr

8)
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12, erlidediwied Geweld LhmGCHTL 2 (hauTeushE eremgy GLIWI,
(at) euLdCadlur (<=y,) sri&Camom
(&) srrflGenmom (/) euGumomr

Cancer of the epithelial cell is called as

(a) Leukaemia (b) Sarcoma

(¢) Carcinoma (d) Lipoma

Ll - 11/ PART - II

@O : sTemeuCwenibd e Nanns s EpdE el wealgdsab. e aam 22 -&@

&L mwuwne eSelwell&sa|n. 7x2=14

Note : Answer any seven questions. Question No. 22 is compulsory.

13. Gasmhp Qeulin eflfley @GHewTEb erenmred eremar ?

What is coefficient of apparent expansion ?

14. Wenaflenlp efeng@saiicr LmievLar 2 Coorabd LweaTLBSSULREIDS. 2 BSlér
2 hdl @evpuins sFenar LweTU(RSSIcuScena. ererm ?

Why is tungsten metal used in bulbs but not used as fuse wires ?

15.  F(H eTerTlg) eTemed ? i 2(HeUMGEUSEN FLGTLTL L & S(HS.

What is rust ? Give the equation for the formation of rust.

16. GoenL_ 6reTmmey eTewmenr ?

What is stage ?
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17. esGam glflud say “Gswsdlen CLavG&Esi” cranm et siempssliu@dmns ?

Why is sinoatrial node called as pacemaker of heart ?

18. e epemerulien LITGRISET WiTene ?

What are the parts of the hind brain ?

19. Qar@ésiul(erer LG A, B, C oppd D U UrshiSmer el TeTid

SITERTELD.

Identify the parts A, B, C and D in the given figure.

20. QsTeevl gib (FbuTd) eremmmed ereman ? LMD 2 pHuSHuinens apriGurersearme
ereueurm e(prGLBSSLLHEDE ?

What is colostrum ? How is milk production hormonally regulated ?

21. QwlLrevLrflay eranpre ereiar ?

What is metastasis ?

22. @ sevgsadien pH iy 4.5 erafled), oigen pOH wélemus srams.
If the pH of a solution is 4.5, find the value of its pOH.
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L@&d - 11/ PART - III

G@PlLY : eemeuCuenid g amss@rs® doLwalissab. elemm e 32 -&@

&L_L_muwns eflenLwelléseaib. 7x4=28

Note : Answer any seven questions. Question No. 32 is compulsory.

23. fl@awgdear LG umssamen rHS5SIESTHEEHL e llaTéEs.

Explain the various types of inertia with examples.

24. (=) Qubers wHmIb Cewpens sfflusssder rCsEILD PPN LIGTLSEET CTIPEIS.
(<) BlenGerm L gdlan Geuliu eflenemeveul LRSS Cewuou@bd Qrer® Wer

srgemmgetien QUuflerars smmps.
(a) Write any three features of natural and artificial radicactivity.

(b) Name any two devices, which are working on the heating effect of current.

25. (1) MgSO,.7H,0 2. ullerer Qeuliiu(hggnCurg eranen Hlapdng ? Geucilenars-
SITEH FLOGOILITL g NET T (LH&I%.
(<2,) senrdmes — cuenLDIES6LD.
(a) What happens when MgS0O,.7H,O is heated ? Write the appropriate equation.

(b) Define : Solubility.

26. () FEUTEF Frey CTEIMTE) GreaTesr ?
() peiléd CofsenaulenGurg @amer sllenensi@ ey eran epafl eflenar e Gl
Gouemt(HiL ?
(a) What is Respiratory Quotient ?

(b) Why should the light dependent reaction occur before light independent reaction during
photosynthesis ?
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27.

28.

29,

30.

31.

32.

X MARCH 2024

pwiedledr L6y eumiiILIML I 6Nl 6T (LSS

Write the dental formula of rabbit.

(=¢) sraugmser wHML deokGsaae wleamig Hlow srsswragrs o6
SHSULHEDG ?

(<=1) Bluprrerser seupblen sienwlnfen iqliueL e ereuaurmy auemsLiL(BSS-
UL (heTeresr ?

(a) Why is Euploidy considered to be advantageous to both plants and animals ?

(b) Classify Neurons based on its structure.

swafsEnd, HeorseEnd sewidear oiglumLuwia aaeurn Caumubdeamar ?

How are Arteries and Veins structurally different from one another ?

ey @en greureilue eratusemen euanTILMEE, <A WSELSTHIaISMS CT(pSIs.

Define Ethnobotany and write its importance.

(=) srfllGenred ghULSonigl) elleveTeser wirene ?
(<21,) DNA &flgeb Grenag Csmfled m Lgdlen Bl (penn LIWSETUT(HSEETS Sal)d.
(a) What are the consequences of deforestation ?

(b) State the applications of DNA finger printing technique.

(1) aThs sifled Sigdlain 2 Garssang GawauLr Hloass e LHSSID ? eer ?

(<) 1.51x102 paseaany eeLw NH,Cl -ar Gurasale aanmilsmsawus

saTHE(H .
(a) Name the acid that renders Aluminium passive. Why ?

(b) Calculate the number of moles in 1.51 X 10 molecules of NH,CL.
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Lu@$ - IV/PART - IV

GOlUY : Semendgl NamssEps@h elowalssab. Comawrea @L hisalld LLb

GUEDTILIQYLD. 3x7=21
Note : Answer all the questions. Draw diagrams wherever necessary.
33. (=) () @elCeendlan LwLensET Wrenau ?

(ii)
(i)

(iv)

(=) ()

(@ @

) ®

Bpu@flens — euenmLimissayb.
CursGergsHF engeans eflars@Gser fleaulil HlinsHe en&ElILIHEUSET STTERTLD
Gresen ?
Ba(HD HRTGamréduien Ssfpperey créran ?

S|6060&I
erlClpmad eremmed ereden ?
adlayrell Gal uigharen Quani( Hubsmeisamend snms.
erglArmailudlen WmSSHeUL LILIGTEMETS Fnlis.
adyrellenwit LTSS dluilen HensCoussmss srans.
What are the uses of convex lens ?
Define dispersion of light.
Why are traffic signals red in colour ?
What is the least count of travelling microscope ?

OR

What is an echo ?

State two conditions necessary for hearing an echo.

What are the medical applications of echo ?

How can you calculate the speed of sound using echo ?

[ H®LLs / Turn over

GREEN GARDEN MATRIC. HR. SEC. SCHOOL
Perundurai R.S.
PH: 9486379461, 8344933377


user
Typewriter
X MARCH 2024

user
Typewriter
GREEN GARDEN MATRIC. HR. SEC. SCHOOL

                      Perundurai R.S.

         PH: 9486379461, 8344933377


7729

34.

X MARCH 2024

(=) ()

(i)

(=) @

10

@Cr QauliL 2ss Hleneudled 3 a8l. O,, 5 &l. Cl, opmitb 6 65l. H, eumu|gaener

T (NE&E CETeL_Tey
(A) e s aanafismsidare (pasamusmens CQaramg HEEGD ?
(B) oI5 G®DHS cramanEansullona paEsamEaeTs CETarm (HE@GD ?
peian igmid Casrerensuien CaTl LITHF®ET (PSS,

TNV )
g LTeeyenT sem ereucurm Beny wrsuLBSgidleanme ?
@@ sfg Gafbb ‘A’ eearugen epaddam eumiliur® C,HO, 8&
usUILBSEsdL LwauBAng. CoEb aggeamraL e damarnfibg
@eflw weasapepw Carob ‘B -enwg smEng erane,
(A) GCemwid ‘A’ -epwd saTLHS.
(B) Gamwd ‘B’ 2 (Heumse allenemulleanest er(psis.

(©) @pHspeih@l Quui@Bs.
Under same conditions of temperature and pressure, if you collect 3 litre of O,,
5 litre of Cl, and 6 litre of H,, -
(A) Which has the highest number of molecules ?
(B) Which has the lowest number of molecules ?
Give the salient features of ‘Modern Atomic theory’.
OR
How do detergents cause water pollution ?

An organic compound ‘A’ is widely used as a preservative and has the molecular
formula C,H,0,. This compound reacts with ethanol to form a sweet smelling
compound ‘B’, then

(A) Identify the compound ‘A’.
(B) Write the chemical equation for its reaction with ethanol to form compound
‘B'.

(C) Name this process.
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(<=1) (i)

()

(b}

(i)

Qawhens oy sallanser eremLemel WTeel ? T(HSHEET(H F(Hs.
LEGID STaUrsdler o cTem Gasslan si@wliepy LTS wHLD LI S&IL 60
elers@s.
SV
"G usel LT Aulldr ghens” erer SidPS&HEILHLeT wmT ?
2 Lsuy wppid Gesefissaiy — Caunu@sss.
aues 1 oppid awes I Blfley Crmismar CaimyL@éss.
What are synthetic auxins ? Give an example.
With a neat labelled diagram, describe the parts of the typical angiospermic ovule.
OR
Who is called the “Father of Indian Green Revolution” ?

Differentiate between out-breeding and in-breeding,.

Differentiate between Type-I and Type-II Diabetes mellitus.

-o00o0-
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